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PRELIMINARY EXAMINATION —JANUARY 2019 ;
Std: X o T Datc 14 -01-2019
 Time: 2 Hours 5 Subject: MATHEMATICS { " No. of Printed sides: 3
. Answers to this Paper must be wnﬂcn on 1he paper pmvndcd separately.
You will not be n]lowed to wmc durmg thc first 15 minutes.
rcadmg thc Qucstmn Paper. '

This time is to bc spe
The time given at the head oflhls apt

Section 1 is compulsory. Attempt any four questions | from this Section IL -
The intended marks for qucsuons or parts ( of questlons are ngcn in brackets [ ].
. Section I (40 Marks) -
Attempt aJJ qucsuons from this Sectlon.

1sthe tImc allowed for writing the answers.

1
4% and 15"' tc:m ofA.P are 22 zmd 66 rcspeclwcly Fmd !hcﬁrsitmn;and the sum of first 11 wrms 13
+4xt - x-l hence

Usmg Rcmamdcr theumm, Show that (2x +l) isa ﬁactor of polynoxnml p(x) -4 .
Factorise the polynomial, __ h [3_]
thc given figure, O is the centre of the circle. lfAPOR- 150° and

-
find the measure of:

» sAon 2. at T '
\Jfolvc for x and give your answer correct 1o two mgmﬁmni ﬁgurw :
B _ x> -3x-9=0 o
‘(b/ : R sin3A—cos®A _ S ook
Prove the given1 cnnry 14 sinAcosA = sinA-
V/Some cards are numbercd o 1010 40 and well shuﬂled. One canl is dmwn at random. What is the
that is: '

(3]

—d

bk Pro
3 : 7/ a prime pumber
:cé’ . ) Aivisible by 2 and 5 4 :
§ {) a perfect squarc. - 4]
3 .
§ fion3. R
= ®. Q ad R have co- ordinates (-2, 1), (2 2) and (6, .2) rwpectwely, wnte down
i gradient of QR : .
A . - ' | : 3]

Solve the following incquation, wntc the solution sct and rcprwent the solunon set on the number line. .
1 3x ,
_.<._x.+]<‘l-3-,xER ‘ [3]
" . 4]

ught ¥100 shwofdmdend 9% sclhng at certain pncc If the rate ofrctumns 7.5%
market value of cach share. - -

amount to be invested to obtain an annual mcomc of 21260.
1) howwmmmshouldhcbuytomcmschm income to ¥1890. B3]
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conc With base
- (3]

4055 A spherical of diameler 28 cm is melted and cast ifo a right circular
d;::yf 35 cm. Find the h 'gﬁ(‘df‘_‘cdhc,i correct to one decimal plm i 2

't‘lv):cv Modal
' (4)

0

ttempt ANY FOUR questions from this section.

1 T e &)
must bé taken to make the sum 32807 B3]

' =Xt AMBIKA BOOK DEPOT 4]
Rl Shop No. 1, Rangoli, Vasant Utsav,
e e g Thakur Village, Kandivali (E),
ua/b A ~ Mumbai-400101.
) Rohit deposited %400 at the beginning of every month maM I%gurgr?g;%p%sq't account and received 16,398
at the endof 3 years, Find the rate of interest given by the bank. : (31

"<k m;?a square plot of land is drawn to scale of 1: 2500 If the area of the plot on the map is 2cm.
W{ng actual area o_f the land in square Km. .7
‘ The length of thcdiago‘m'll in actual plot of land in meters, _
( ‘JU/se graph paper for this question. Take 2¢m as Z-i;nits on both ﬁ;axa.
Plot the points A(1,2),B(8,3),C

Tlo (7,8) and D (3, 7). Complete the quadrilateral ABCD. Find the point P
inside the quadrilateral such AP =:BP and P is also equidistantfrom AB and AD, Record the length PB.[4)
\é - : .

estion 7. ,
\Li){‘:c r'i_;eanvof the following distribution is 24. Find the missing frequency ‘a;

Nty

‘| Class interval = |- 0 =10 T 10—20
Frequency - | 1o 6

33

61

20.—30 [ 30— 4] a0 35
a_ 12 5

A man in a boat m\&i;igJQWay from a lighthouse 150 m bi.gh.. f

es 1 minute to change the angle ofclevation of the top of

the lighthouse from §0° 10 45° . Find the speed of the boat.

: | D . € - B
internally or cxtcrnaliy, the..imduct of the lengths of .o
' o : ’ [4]

estiopnd:. - )
kﬁl::segmcnt joinir_jg“A (-1, - Jand B , ) is divided in the ratio 1:3

( ;atP, the point v/here the line
scgment intersects Y- axis. Calculate: kf‘ evalueof ‘a’ -
we T e (i.i).)c'b;:z:’d?mtqofl’.‘ : T (=]
i Page 2. |
\ ) i -

te/ pve that if two chords of a circle intersect
theiptgments formed are equal. :
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MATHEMATICS

, £ABC. If length of tangent CT =
i AT?.Snm.ﬁndthelengm ofchord AB.

toCEand AC=5:38.

tb:/gz:n ﬁgurc ABC and CEF are two manglw whcrc BA is parallel

¥) Proy_e that A ADFis similar to ACEF
Y/ Find AD if CE=6cm. -
(")) lf DE is parallel to BC, find are (A ADF):; area (A ABC)

»Question 9. : ‘ &
~(a) The total surface area of a hollow metal cylmdcr, open at bolh cnds of extermnal radius 8 cm and hcaghl
10 cm is 338 % em? . Taking r to be the internal radius, write down an ecquation in r and use it to state
The th.lclmm of the metal in the cylinder. [4]

(b) The following tab}c shows the marks of 120 students, obtained in Mathematics, in JCSE examination.

. Draw an ogive for the table:
Marks 30-40 | 40-50 | 50-60 | 60-70 70-80 | 80-90 | 90-100
No. of students ] 3 11 2] 43 .32 -9
Use the ogive to estimate: &\
(i) the median (i) the upper quartile Q S
(iiii) the number of students who got more than 95% marks, - ' \ \f’ s
. (iv) the marks obtained by top 20% students in the cxmmnahon. V{s (6]
_- - a T e e 0 ‘“ '
\
tion 10. *y. (\Qb &3’ \“
For whnt value of * p’ the following equation has equal roots: \ . @\ _
x2 =2px +(Tp-12)=0 Y > oS I3
P P . . %E-Q Qg)@ '{{fg 3]
® .
.~ {cotA—cosec A)*+1 ° R o
Prove that: : =2cotA ' -\ - 3]

secA (cosec A—cot A)

c) vé forthxsqucsnun.Takclcm—lmntonboththcaxes
Jot the points A (-3, 3) and B(2,2) ' .
Wntc the coordinates of A' and B', the images of A and B respecnvcly on reflection in origin.
nw the geometrical name of the figure ABA'B'.

V Wnte the coordmaies of two invariant points in y-axis in the ﬁgure

,Qugktion 11. |
Fipd the sum of the terms of the A.P. ; 4914,....,89Alsoﬁndthc4‘htmmﬁomcnd.

4]

[3]
' 1 = = -~ = 4 O 1 3
foiven A=[2 "F1.B= [ Zmac [ 9], Findthe motix X, uch tom
A+2X=2B+C o ' ‘ 3]
r/
(c) Mr. Ravi has a recumng deposit account of T 400 per month at 10% per annum. If he gets 16220
At the time of maturity, find total time for which the account’ was held. 4]
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